
Partial Parts List For Job #: 21244-0000 Date Printed: March 13, 2024

For Sales Order:  33283 Item:  LT41VLSWC8T

Part # Description     QTY UOM

2006-1-20-2A OUTER SHELL BOTTOM  1.00 EA
18 GA PTLOK, 38 13/16" X 35 5/8"  

2006-1-20-3 OUTER SHELL REAR WALL  1.00 EA
22 GA PTLOK, 59 9/16" X 38 7/8"  

2006-1-20-6A OUTER SHELL TOP  1.00 EA
18 GA PTLOK, 38 13/16" X 35 5/8"  

2006-1-20-8 TOP / BOTTOM LINER SUPPORT  2.00 EA
Bend Location: B--  

2006-1-20-9 VERTICAL LINER SUPPORT  2.00 EA
Bend Location: A--  

2006-1-30-1 INNER LINER BOTTOM  1.00 EA
22 GA. #304-4 S.S., 38 5/16" X 29 5/32"  

2006-1-30-2 INNER LINER TOP  1.00 EA
Bend Location:B--  

2006-1-30-5 INNER LINER BACK  1.00 EA
Bend Location: A--  

2006-1-30-6 41 TOP & BOTTOM INSULATION  4.00 EA
POLYSTYRENE 1 9/16 x 14 7/8 x 37 13/16  

2006-1-50-1 DOOR FACE PANEL  1.00 EA
Bend Location: A--  

2006-1-50-3 CU-41 DOOR INSULATION  1.00 EA
POLYSTYRENE, 1 7/8 X 39 X 59 1/2"  

2006-1Q-20 BASE ASSY  1.00 EA
 

2006-4-20-1L L.H. SIDE WALL  1.00 EA
Bend Location: A--  

2006-4-20-1R R.H. SIDE WALL  1.00 EA
Bend Location: A--  

2006-4-30-3 INNER LINER R.H. SIDE  1.00 EA
18 GA PTLOK  

2006-4-30-4 INNER LINER L.H. SIDE  1.00 EA
Bend Location: B--  

2006-4-300-5 CONDENSING UNIT PLATE  1.00 EA
18 GA. GALV., 32 5/8 X 17 7/8"  

2006-4-40-1 FRAME END  4.00 EA
Bend Location: B--  

2006-4-40-2 FRAME SIDE  4.00 EA
Bend location: B--  

2006-4-60-10 HORIZONTAL GASKET SUPPORT  2.00 EA
18 GA. PTLOK  

2006-4-60-10 HORIZONTAL GASKET SUPPORT  2.00 EA
18 GA. PTLOK  

2006-4-60-11 VERTICAL GASKET SUPPORT  2.00 EA
18 GA. PTLOK  

2006-4-60-11 VERTICAL GASKET SUPPORT  2.00 EA
18 GA. PTLOK  

2018-8-600-2 LONG COPPER TUBE  2.00 EA
1/2" OD COPPER , 18" LENGTH  

2019-18-100-2 MOUNTING BRACKET  1.00 EA
Bend Location: B--  

2020-2-100-5 36 SOLID-STATE RELAY MOUNTING PLATE  1.00 EA
Bend Location:B--  

2020-2-100A HINGED INTELLUS BRACKET WELD  1.00 EA
 

2020-2-100B CONTROL BOX LOCK CATCH PLATE WELD  1.00 EA
 

2020-2-80-1L LH CONTROL TOP CORNER  1.00 EA
Bend Location: B--  

2020-2-80-1R RH CONTROL TOP CORNER  1.00 EA
18 GA PTLOK  

2020-3-100-1 41 CONTROL BOX DOOR W/ TABLET  1.00 EA
Bend Location:A--  

2020-3-100-2 41 CONTROL BOX ENCLOSURE  1.00 EA
Bend Location:A--  

2020-3-100-3 41 CONTROL BOX TOP COVER  1.00 EA
18 GA PTLOK  

2020-3-100-4 41 CONTROL BOX DOOR STOP  1.00 EA
Bend Location:B--  

2020-3-80-2 41 CONTROL TOP REAR PANEL  1.00 EA
22 GA PTLOK  

2021-8-170-1 HEATER BRACKET  2.00 EA
 

70-1-70-8A HORIZ. LIGHT FIXTURE CLIP  4.00 EA
.050 ALUM. 3/4" x 1 1/4"  

70-2-300-16 SUCTION ACCUMULATOR MTG. BRACKET  2.00 EA
Bend Location: B--  

95-3-120-3 SIDE PANEL CHANNEL  2.00 EA
Bend Location: B--  

95-3-120-3 SIDE PANEL CHANNEL  2.00 EA
Bend Location: B--  

95-3-20-7A GUSSET  4.00 EA
18 GA. PTLOK, 8 X 8" (EACH), 28 13/32 X 40 3/8" (BATCH 32)  

95-3-20-8L REAR CORNER LINER SUPPORT  1.00 EA
Bend Location:B--  

95-3-20-8R REAR CORNER LINER SUPPORT  1.00 EA
Bend Location:B--  



 Partial Parts List For Job #: 21244-0000   
Date Printed: March 13, 2024

  
 
 

  For Sales Order:  Item:  LT41VLSWC8T       
 Part # Description     QTY UOM  

   
95-3-300-5 TOP LH PANEL  1.00 EA

Bend Location: B--  
95-3-300-6 TOP RH SCREEN  1.00 EA

Bend Location: B--  
95-3Q-500-1 SKID SHIM  2.00 EA

2 X 4 LUMBER 15 1/2" LENGTH  
95-4-50-5 CORNER-DOOR CORE  4.00 EA

Bend Location: FLAT  
95481 SPORLAN SOLENOID VALVE MOUNT  4.00 EA

16 GA GALV
1 5/8" X 3 3/8"

 

CMS-044 (MACH. 6-32 X 1/2" PHILLIPS ROUND HD. S.S.  4.00 EA
 

CMS-069 (MACH. 10-24 UNC X 3/8, PH. RD. HD., S.S.  2.00 EA
10-24 UNC X 3/8" PHILLIPS, ROUND HEAD, STAINLESS-STEEL MACHINE SCREW  

CMS-074 (MACH. 6-32 X 1" PHILLIPS RD. HD., S.S.  4.00 EA
 

CMS-111 (MACH. 6-32 X 1/4" PHIL. PAN HEAD, ZINC  31.00 EA
LED LIGHT MOUNTING SCREWS. Thrd-Cutting Screw for Metal&Plastic (Type F) Pan Head Phil, Zinc-Plated Steel, 6-32 Thread, 1/4" L  

CMS-111 (MACH. 6-32 X 1/4" PHIL. PAN HEAD, ZINC  31.00 EA
LED LIGHT MOUNTING SCREWS. Thrd-Cutting Screw for Metal&Plastic (Type F) Pan Head Phil, Zinc-Plated Steel, 6-32 Thread, 1/4" L  

CSM-004 (S.M. SCREW) 6 X 1/2" NICKEL PL, PHIL. TRUSSHEAD  4.00 EA
#6128-148N SERVICE SUPPLY CO.  

CSM-004 (S.M. SCREW) 6 X 1/2" NICKEL PL, PHIL. TRUSSHEAD  4.00 EA
#6128-148N SERVICE SUPPLY CO.  

CSM-039 (S.M. SCREW) 6 X 1/2" SELF DRILLING #410 S.S.  15.00 EA
HEX HEAD, CORROSION RESISTANT COATING  

CWN-002 (WELDNUT) 10-24 UNC DUAL SPUR SPOTWELD NUT  4.00 EA
BUCKEYE ND-1514; 10-24 UNC; DUAL SPUR; REQUIRES A Ø 1/4" PILOT HOLE; C1010 LOW-CARBON STEEL.  

CWN-002 (WELDNUT) 10-24 UNC DUAL SPUR SPOTWELD NUT  4.00 EA
BUCKEYE ND-1514; 10-24 UNC; DUAL SPUR; REQUIRES A Ø 1/4" PILOT HOLE; C1010 LOW-CARBON STEEL.  

CWN-002 (WELDNUT) 10-24 UNC DUAL SPUR SPOTWELD NUT  4.00 EA
BUCKEYE ND-1514; 10-24 UNC; DUAL SPUR; REQUIRES A Ø 1/4" PILOT HOLE; C1010 LOW-CARBON STEEL.  

CWN-003 (WELDNUT) 1/4-20 UNC, DUAL SPUR, C1010 STEEL  8.00 EA
BUCKEYE ND-2118, DUAL-SPUR, 1/4-20 UNC SPOTWELD NUT; C1010 LOW-CARBON STEEL, REQUIRES A Ø 5/16" PILOT HOLE.  

CWN-003 (WELDNUT) 1/4-20 UNC, DUAL SPUR, C1010 STEEL  8.00 EA
BUCKEYE ND-2118, DUAL-SPUR, 1/4-20 UNC SPOTWELD NUT; C1010 LOW-CARBON STEEL, REQUIRES A Ø 5/16" PILOT HOLE.  

CWN-007 6-32 STEEL WELD NUT  2.00 EA
0.185" HOLE SIZE, 0.18" TO 0.19" OD BARREL SIZE.  

CWN-007 6-32 STEEL WELD NUT  4.00 EA
0.185" HOLE SIZE, 0.18" TO 0.19" OD BARREL SIZE.  

CWS-023 (DRYWALL ... 8 X 3 DRYWALL SCREW  20.00 EA
BUGLE HD DRYWALL SCREW ZINC/YELLOW PHILIPS COARSE THREAD  

CWS-024 (DRYWALL ... 8 X 2 PARTICAL BOARD SCREW  46.00 EA
PARTIAL THREAD 8 X 2 PHILIPS HEAD FLAT HEAD WITH NIBS, BLACK PHOS STEEL  

EBR-146 (BREAKER) 15A, 1-P, ALTECH 1DU15L, UL489  1.00 EA
ALTECH CORP. CATALOG #1DU15L, DIN MOUNT (AC) CIRCUIT BREAKER, 15A, 1-POLE, 10kA @ 120/240/277VAC, 50/60Hz, 
L-SERIES; SCREW TERMINALS, GREEN: OFF/TRIP, RED: ON, LINE/LOAD REVERSIBLE, HIGH MAGNETIC TRIP POINT, UL 489 & CE

 

EBR-147 (BREAKER) 2A, 1-P, ALTECH 1DU2L, UL489  3.00 EA
ALTECH CORP. CATALOG #1DU2L, DIN MOUNT (AC) CIRCUIT BREAKER, 2A, 1-POLE, 10kA @ 120/240/277VAC, 50/60Hz, 
L-SERIES; SCREW TERMINALS, GREEN: OFF/TRIP, RED: ON, LINE/LOAD REVERSIBLE, HIGH MAGNETIC TRIP POINT, UL 489 & CE

 

EBR-163 (BREAKER) 3A, 1-P, ALTECH 1DU3L, UL489  2.00 EA
ALTECH 1DU3L, DIN MOUNT (AC) CIRCUIT BREAKER, 3A, 1-POLE, 10kA @ 120/240/277VAC, 50/60Hz, L-SERIES; SCREW 
TERMINALS, GREEN: OFF/TRIP, RED: ON, LINE/LOAD REVERSIBLE, HIGH MAGNETIC TRIP POINT, UL 489 & CE

 

EBR-180 (BREAKER) 25A, 1-P, ALTECH 1DU25L, UL489  1.00 EA
ALTECH 1DU25L, DIN MOUNT (AC) CIRCUIT BREAKER, 25A, 1-POLE, 10kA @ 120/240/277VAC, 50/60Hz, L-SERIES; SCREW 
TERMINALS, GREEN: OFF/TRIP, RED: ON, LINE/LOAD REVERSIBLE, HIGH MAGNETIC TRIP POINT, UL 489 & CE

 

EBU-016 (BUSHING) SR7N-2 HEYCO INSULATOR BUSHING  1.00 EA
HEYCO #1244 STRAIN RELIEF BUSHING; BLACK, UL/CSA STRAIGHT THRU-TYPE; FOR USE W/ Ø 0.430" MAX. ROUND CABLES; 
FOR USE W/ (EPL-030) 7-WIRE CORDSET.  REQUIRES A 0.66" WIDE X 0.75" LONG OVAL MOUNTING HOLE.

 

EBU-016 (BUSHING) SR7N-2 HEYCO INSULATOR BUSHING  1.00 EA
HEYCO #1244 STRAIN RELIEF BUSHING; BLACK, UL/CSA STRAIGHT THRU-TYPE; FOR USE W/ Ø 0.430" MAX. ROUND CABLES; 
FOR USE W/ (EPL-030) 7-WIRE CORDSET.  REQUIRES A 0.66" WIDE X 0.75" LONG OVAL MOUNTING HOLE.

 

EBU-016 (BUSHING) SR7N-2 HEYCO INSULATOR BUSHING  1.00 EA
HEYCO #1244 STRAIN RELIEF BUSHING; BLACK, UL/CSA STRAIGHT THRU-TYPE; FOR USE W/ Ø 0.430" MAX. ROUND CABLES; 
FOR USE W/ (EPL-030) 7-WIRE CORDSET.  REQUIRES A 0.66" WIDE X 0.75" LONG OVAL MOUNTING HOLE.

 

EBU-016 (BUSHING) SR7N-2 HEYCO INSULATOR BUSHING  1.00 EA
HEYCO #1244 STRAIN RELIEF BUSHING; BLACK, UL/CSA STRAIGHT THRU-TYPE; FOR USE W/ Ø 0.430" MAX. ROUND CABLES; 
FOR USE W/ (EPL-030) 7-WIRE CORDSET.  REQUIRES A 0.66" WIDE X 0.75" LONG OVAL MOUNTING HOLE.

 

ECL-004 (CLAMP) 3/16"  NYLON CABLE CLAMP  2.00 EA
WHITE  

ECO-003 (CONNECTOR) T&B 1/2" STRAIGHT, FLEXIBLE  1.00 EA
STCXC270, 1/2" SQUEEZE FLEX CONNECTOR; UL- & CSA-APPROVED.  

ECO-061 (CONNECTOR) WAGO 231-304/026-000 FOUR CIRCUIT  2.00 EA
WAGO #231-304/026-000; 4-POLE ORANGE FEMALE CONNECTOR W/ CAGE CLAMP, FOR USE W/ AWG #28-12 WIRE, 300 V/15 A 
MAX., UL & CSA APPROVED.

 

ECO-121 (CONNECTOR) WAGO 5 CONDUCTORS LEVER CONNECTOR  5.00 EA
WAGO 221-415, 24-12 GA. WIRE, 600V, 20A, 3 COMMON TERMINALS, UL, CE, EN, 25/BOX  

EFA-039 (FAN) 4YD79 AXIAL FAN CORD SET  2.00 EA
GRAINGER #4YD79; CORD SET REQUIRED FOR USE OF GRAINGER #5C155 (EFA-038) AXIAL FAN; UL-APPROVED (#E88231) & 
CSA-APPROVED (#LL54496).

 

EFA-039 (FAN) 4YD79 AXIAL FAN CORD SET  2.00 EA
GRAINGER #4YD79; CORD SET REQUIRED FOR USE OF GRAINGER #5C155 (EFA-038) AXIAL FAN; UL-APPROVED (#E88231) & 
CSA-APPROVED (#LL54496).

 

EFA-045 (FAN) 4YD87 AXIAL FAN GUARD  2.00 EA



 Partial Parts List For Job #: 21244-0000   
Date Printed: March 13, 2024

  
 
 

  For Sales Order:  Item:  LT41VLSWC8T       
 Part # Description     QTY UOM  

   
GRAINGER 4YD87; FITS AXIAL FANS W/ 4-1/8" X 4-1/8" O.C. MOUNTING HOLE DIMENSIONS.  

EFA-045 (FAN) 4YD87 AXIAL FAN GUARD  2.00 EA
GRAINGER 4YD87; FITS AXIAL FANS W/ 4-1/8" X 4-1/8" O.C. MOUNTING HOLE DIMENSIONS.  

EFA-091 (FAN) AXIAL FAN, 230VAC, 31CFM, 50/60HZ  1.00 EA
ORION OA80AP-22-1WB, SHADED-POLE MOTOR, 0.06a @ 230VAC, 12W, 31 cfm @ 50/60Hz, 3000 RPM, 29 dB, -20°-80°C TEMP. 
OPERATING RANGE, CW ROTATION, SUPPLIED W/ TWO (2) 22 GA. X 12" LEAD WIRES, DUAL BALL BEARING, RoHS-COMPLIANT, 
3.15" X 3.15" X 1.50".

 

EFA-111 (FAN) OA125AP-22-1TB ORION FAN 220V 75CFM  2.00 EA
OA125AP-22-1TB AC; 220V; 120x120x25mm; Sq; 75CFM; 14W; 42dBA; 2900RPM; Terminals  

EFA-111 (FAN) OA125AP-22-1TB ORION FAN 220V 75CFM  2.00 EA
OA125AP-22-1TB AC; 220V; 120x120x25mm; Sq; 75CFM; 14W; 42dBA; 2900RPM; Terminals  

EHE-046 (HEATER) 250W @ 230V U-TUBE HEATER, RED  1.00 EA
OPEN AIR HEATER, 250W @ 230V, MARKED WITH RED PAINT, WATLOW PART RBN36B1H-2, 40" OAL X 0.315" DIA., FORMED IN 
FIGURE 1, A = 17.5625", R = 1", W/ EPOXY SEAL AND 36" SILICONE WIRE LEADS W/ SHRINK BOOT EPOXY SEAL, QUOTE # 710091
See drawing number 2006-1-300-7

 

EHE-052 (HEATER) 230V, 11W, FLEX. BRAID ALUM HEATER  2.00 EA
11W, 230VAC FLEXIBLE BRAID ALUMINUM HEATER, 8" LONG, REFRIGERATION HARDWARE SUPPLY CORP NO. 64-402  

EHE-068 (HEATER) 230V, 51W, FLEX. BRAID ALUM HEATER  2.00 EA
51W, 230VAC, 0.22A, FLEXIBLE BRAID ALUMINUM HEATER, 40" LONG, REFRIGERATION HARDWARE SUPPLY CORP NO. 64-416  

ELD-033 DALI TO PWM CONVERTER (ONE DALI )  1.00 EA
MEAN WELL DAP-04  

ELD-066 12 X 24 WHITE LED TILE W/COATING  3.00 EA
12" x 24" LED tile with conformal coating. With Samsung LM301B  Mid Power LED, 4000K with CRI90 SH flux bin. 12 STRINGS OF LEDs 
WITH 13 LEDs PER STRING (156).

 

ELD-066 12 X 24 WHITE LED TILE W/COATING  3.00 EA
12" x 24" LED tile with conformal coating. With Samsung LM301B  Mid Power LED, 4000K with CRI90 SH flux bin. 12 STRINGS OF LEDs 
WITH 13 LEDs PER STRING (156).

 

ELD-071 LED DRIVER MEANWELL HLG-185H-C1400B  1.00 EA
MEANWELL HLG-185H-C1400B LED DRIVER, CONSTANT CURRENT, 1400mA OUTPUT CURRENT, 200.2W, 71-143V OUTPUT, 
90-305VAC INPUT VOLTAGE, WITH DIMMING, -40 TO 90°C OPERATING TEMP RANGE, RoHS, 8.03"L x 2.68"W x 1.53"H, IP65 
RATING, 3 IN 1 DIMMING

 

ELD-071 LED DRIVER MEANWELL HLG-185H-C1400B  1.00 EA
MEANWELL HLG-185H-C1400B LED DRIVER, CONSTANT CURRENT, 1400mA OUTPUT CURRENT, 200.2W, 71-143V OUTPUT, 
90-305VAC INPUT VOLTAGE, WITH DIMMING, -40 TO 90°C OPERATING TEMP RANGE, RoHS, 8.03"L x 2.68"W x 1.53"H, IP65 
RATING, 3 IN 1 DIMMING

 

EPC-032 (USB CABLE) PANEL MOUNT USB CABLE, A-A F/M, 3FT  1.00 EA
STARTECH USBPNLAFAM3  

EPC-044 (COMPUTER) SIBO,10" ANDROID TOUCHSCREEN  1.00 EA
SHENZHEN SIBO INDUSTRIAL & DEVELOPMENT CO, LTD.
MODEL Q8919 TOUCHSCREEN HMI WITH:

 

EPC-057 (ETHERNET) ETHERNET CABLE - 5' CAT5 CABLE BLK  1.00 EA
10X6-12205, 5 FT., BLACK; UL-APPROVED, RoHS-COMPLIANT, WITHOUT PVC BOOT  

EPL-004 (PLUG) 3 TERM., MOLEX 1396, 03-09-2031  4.00 EA
Conn Housing PL 3 POS 5.03mm Crimp ST Panel Mount Bag, W/MTG. EARS  

EPL-006 (PLUG) MALE PLUG W/LEAD 18/3 W/54"LD WHITE  1.00 EA
EMF CORP. M-3-7/PM0030; 3-WIRE CORDSET, W/ 54" LENGTH AWG #18 STRANDED Cu WIRES & 300 V/105°C MAX., 1/2" 
PRESTRIPPED WHITE PVC INSULATION; UL- & CSA-RECOGNIZED.

 

EPL-041 (PLUG) 9 TERM., AMP MATE-N-LOK 1-480706-0  3.00 EA
TYCO UNIVERSAL MATE-N-LOK 1-480706-0; 9-TERMINAL PLUG, 19 A @ 600 V MAX., 105°C MAX.; USE W/ (ERE-046); UL- & 
CSA-APPROVED.

 

EPL-052 (PLUG) EMF CORP. P-7-1 CORDSET (7-COLOR)  1.00 EA
EMF CORP. P-7-1 7-WIRE CORDSET; SEVEN COLORS, SEVEN (7) AWG 18 X 48" STRANDED Cu WIRES, SEVEN-PIN RIGHT-ANGLE 
PLUG MOLDED ON 3/8" X 44" LENGTH WHITE PVC INSULATION, 4" LENGTH EXPOSED 1/4" PRESTRIPPED WIRE LEADS.

 

EPL-052 (PLUG) EMF CORP. P-7-1 CORDSET (7-COLOR)  1.00 EA
EMF CORP. P-7-1 7-WIRE CORDSET; SEVEN COLORS, SEVEN (7) AWG 18 X 48" STRANDED Cu WIRES, SEVEN-PIN RIGHT-ANGLE 
PLUG MOLDED ON 3/8" X 44" LENGTH WHITE PVC INSULATION, 4" LENGTH EXPOSED 1/4" PRESTRIPPED WIRE LEADS.

 

EPL-059 (PLUG) TYCO 172167-1 MINI M-N-L , 4 SOCKET  1.00 EA
172167-1 MINI MATE-N-LOK Connector, Soft Shell; 4; 600 VAC; Plug; Double-Row; Nylon; Plug; Natural  

EPS-031 (POWER SU... 120/240V IN, 12VDC OUT, 75W  1.00 EA
MEAN WELL LRS-75-12  

ERE-012 (RECEPTACLE) 3 HOLE W/EARS AND TABS  4.00 EA
PLUG & SOCKET HOUSING, RCPT, NYLON  

ERE-014 (RECEPTACLE) FEMALE PLUG W/LEAD, 18/3W/12"LD  1.00 EA
EMF CORP. PM0020; 3-WIRE FEMALE RECEPTACLE, W/ THREE (3) 12" LENGTH X AWG #18 STRANDED Cu WIRES & 300 V/105°C 
MAX., 1/2" PRESTRIPPED WHITE PVC INSULATION; REQUIRES A 1" X 1" SQUARE MOUNTING HOLE; FITS A 0.060" MAX. PANEL 
THICKNESS; UL- & CSA-RECOGNIZED.

 

ERE-083 (RECEPTACLE) R-7-1, 108" SOLID WIRE 7-COLOR  2.00 EA
SEVEN SOCKET / SEVEN COLOR, 108" SOLID WIRE LEN., W / WIRE STRIPPED AT ENDS  

ERL-030 (RELAY) DPDT,30A.,240VAC  1.00 EA
 

ERL-060 (RELAY) S.S., N.O., 3-32 VDC INPUT, 5A, DIN  7.00 EA
CARLO GAVAZZI RP1A23D5M1; N.O., 3-32 VDC INPUT, 24-240 VAC OUTPUT, 5 A MAX. LOAD CURRENT, ZERO-SWITCH TRIAC; 
DIN MOUNT, PUSH-TO-RELEASE WIRING CONNECTIONS; UL- & CSA-APPROVED.

 

ERL-063 (RELAY) P&B/TE, DPDT,30A.,240VAC  4.00 EA
POTTER&BRUMFIELD/TE CONNECTIVITY, T92S11A22-240
Power Relay, DPDT, 240 VAC, 30 A, T92 Series, Panel Mount, Non Latching

 

ESW-130 (SWITCH) DPST ROCKER SWITCH, 20A, 125V  1.00 EA
PRCDA1-20F-BB0BW 
DPST ROCKER SWITCH, ON-OFF, 20A @ 125V, 10A @ 250V, PANEL MOUNT, SNAP-IN, BLACK, I-O MARKINGS, RoHS COMPLIANT, 

 

ETC-052 (TEMP. CON... 3 WIRE RTD, 100 OHMS  2.00 EA
A/100-3W-2.5"-3/16"-12'CL2P-HS, 144" LEADS, 3 WIRE RTD SENSOR, 100 OHMS  

ETC-108 (TEMP. CON... INTELLUS CONTROL OVERLAY - CHINA  1.00 EA
INTELLUS CONTROL OVERLAY WITH GREEN BACKGROUND FOR CHINA  

ETC-109 (TEMP. CON... INTELLUSULTRA GEN2, LOW END VER2  1.00 EA
Watlow PSIB-ASIC-0005  

ETE-017 (TERMINAL) WAGO 2004-1401, GRAY, 4 TERMINAL  12.00 EA
5 mm TERMINAL BLOCK WIDTH FOR MOUNTING ON DIN RAIL  

ETE-018 (TERMINAL) WAGO 2004-1404, BLUE, 4 TERMINAL  6.00 EA
5 mm TERMINAL BLOCK WIDTH FOR MOUNTING ON DIN RAIL  



 Partial Parts List For Job #: 21244-0000   
Date Printed: March 13, 2024

  
 
 

  For Sales Order:  Item:  LT41VLSWC8T       
 Part # Description     QTY UOM  

   
ETE-019 (TERMINAL) WAGO 2004-1407, GROUND, 4 TERMINAL  3.00 EA

5 mm TERMINAL BLOCK WIDTH FOR MOUNTING ON DIN RAIL  
ETE-020 (TERMINAL) WAGO 2004-1491, END PLATE  3.00 EA

5 mm TERMINAL BLOCK WIDTH FOR MOUNTING ON DIN RAIL  
ETE-021 (TERMINAL) WAGO 2004-402; GRAY TERM. JUMPER  7.00 EA

WAGO #2004-402; LIGHT GRAY, 2-PIN PUSH-IN JUMPER BAR; FOR USE W/ 5 mm WIDE TERMINAL BLOCKS; 32 A MAX.  
ETE-022 (TERMINAL) WAGO 249-116, END TERMINAL ANCHOR  8.00 EA

FOR 5 mm TERMINAL BLOCK WIDTH  
ETE-030 (TERMINAL) 16-CONDUCTOR, 4-TERMINAL SNAP-IN  1.00 EA

WAGO #862-0594, BLACK, NO LABELS,
MTG REQUIRES TWO Ø5.2mm HOLES SPACED 12mm, PACKS OF 200; UL- & CUL-APPROVED.

 

ETE-032 (TERMINAL ... JUMPER FOR WAGO TERM BLOCK ETE-030  1.00 EA
WAGO #281-482, GRAY, 2-PIN PUSH-IN JUMPER; UL- & CSA-APPROVED. 100 PC. PER BOX  

GDP-012 (GLASS DBL... 230V HEATED DBL PANE GLASS W/ARGON  2.00 EA
ARGON FILLED, 49 3/4 X 22 3/16 X 3/4", TEMPERED, DOUBLE-PANE, 230VAC, 6.41 Watts/Ft^2 WITH DIODE,  SUPPLIED BY CIG 
GLASS (http://www.cigglass.com/).  ORDER WITH APPROX. 24" LEAD WIRES EXITING AT MIDDLE OF SHORT EDGE OF GLASS; 
DIODE TO BE EXTERNALLY ATTACHED TO LEAD WIRE FOR EASY REMOVAL IF NECESSARY.

 

HBS-001 (SPACER) FEMALE THREADED CIRCUIT BOARD POST  6.00 EA
MICRO PLASTICS INC #27FTP00250  

HDR-007 (DRAIN) 328 005 THRU HULL DRAIN 3/4"  1.00 EA
W/NUT  

HHA-008 (HANDLE) BLACK SOUTHCO P1-30-101-11  1.00 EA
ABS LOW GLOSS  

HHI-029 (HINGE) SOUTHCO EH-5A-4G4-50  2.00 EA
SERIES 40 BLACK POWDER COATED
MOUNTING METHOD: M5 FOUR THREADSTUDS AT .984" BETWEEN CENTER.

 

HLL-001 (LEVELER) 1/2"-2.264" OVERALL HEIGHT  4.00 EA
SK-9246-FT 1/2-13 X 2 1/4 LG LVLR  

HLO-019 (LOCK) COMPRESSION LOCK (1/4 TURN)  1.00 EA
040-1-1-1-42-59, ELECTRAUSA chrome with slotted lock key  

HMA-010 S-MAGNET 1" X 1/2" X 1/8" THICK  1.00 EA
BC82CS-S, 1" X 1/2" X 1/8" THICK WITH COUNTERSUNK HOLE FOR #6 SCREW, RECTANGULAR BLOCK MAGNET, N42, NICKEL 
PLATING, MAGNETIZED WITH THE SOUTH POLE ON THE COUNTERSUNK SIDE

 

HNU-052 (NUT) M5, .8 COARSE THREAD NUT  8.00 EA
 

HNU-076 (RIVET NUT) 6-32 RUBBER-INSULATED RIVET NUT  4.00 EA
McMaster-Carr 93495A120, Rubber-Insulated Brass Rivet Nut, 6-32 Thread, 1/64" - 5/32" Material Thick Range  

HST-002 (PORT PLUG) 1 1/4" ACCESS PORT PLUG  1.00 EA
SHAW AGRO DEVELOPMENT #51013  

LNA-015 (NAILS) S12D-FH 3 1/4" FRAMING NAILS  15.00 EA
BOSTITCH S12D-FH Framing Nails, 28 Degree, Wire Weld, 3-1/4-Inch x .120-Inch, 2000-Pack  

LST-006 (STAPLES) 1/2 CROWN X 1 3/4 LEG 16GA. STAPL  22.00 EA
INTERCHANGE GS16-134 GALVANIZED SHEATHING STAPLE  

LST-007 (STAPLES) 15/16 CROWN X 3/4 LEG 16GA. STAPL  144.00 EA
ROOFING STAPLE  

LST-008 (STAPLES) 15/16 CROWN X 1  LEG 16GA. STAPLE  287.00 EA
INTERCHANGE WC GALVANIZED STAPLE  

RAC-003 (SUCTION A... 3702 REFRIG. RESEARCH, 5/8 ODF  1.00 EA
REFRIGERATION RESEARCH #3702, 5/8" ODF SOLDER CONNECTIONS, 4.1 lb R-22 HOLDING CAPACITY, 4.2 lb R-134a HOLDING 
CAPACITY

 

RBR-001 (RETURN BEND)1/2" O.D. X .028" W X 1-3/8"#27826  2.00 EA
WROT COPPER, MALE ENDS  

RBR-001 (RETURN BEND)1/2" O.D. X .028" W X 1-3/8"#27826  2.00 EA
WROT COPPER, MALE ENDS  

RCO-084 (UNIT COOLER)BOHN TA23SG W/ 230/1/60 FANS  2.00 EA
BOHN, 230/1/60 Hz, 1.2 AMPS w/ 3 fan motors  

RCU-375 (CONDENSIN... M6KP-0102-CAZ-372,449A 220-240/1/50  1.00 EA
EMERSON M6KP-0102-CAZ-372; 1 HP, AIR-COOLED,  R-449A, 220/240-1-50, 3/8" LIQUID-LINE SWEAT CONNECTION, 1/2" SWEAT 
SUCTION-LINE CONNECTION, 1/4" DISCHARGE LINE, 
COMP. RLA: 9.4A, FAN RLA: 0.76A, TOT RLA: 10.16A

 

RES-002 (ELBOW) ELBOW, 1/2"NOM, 5/8"OD WROT, 90°  1.00 EA
STREET FITTING W-02326  

RFN-001 (FLARE NUT) FREY 14FS4, 1/4" SHORT TYPE FORGED  2.00 EA
 

RFN-003 (FLARE NUT) NS4-8 1/2" SAE FLARE  2.00 EA
 

RPR-006 (PRES. REG... SPORLAN CROT-6-30/110, 5/8" ODF  1.00 EA
SPORLAN CROT-6-30/110 5/8" ODF; 30-110 psig PRESSURE RANGE; 5/8" ODF SOLDER CONNECTIONS; SUPPLIED W/ INLET 
SRAINER.

 

RTE-019 (TEE) TEE, WROT 1/4"NOM SIZE, W-04000  6.00 EA
(3/8" OD COPPER TUBE)  

RTE-021 (TEE) TEE, WROT 1/2"OD, 3/8" NOM.,W-04001  1.00 EA
MUELLER BRASS W-04001  

RTE-030  (TEE) W-04002, 1/2" X 1/2" X 3/8"  4.00 EA
 

RVH-002 (HAND VALVE) EBVP-1030 3/8" ODF BALL VALVE  1.00 EA
WITH ACCESS PORT, PARKER 502054  

RVQ-002 (BODY) Q BODY 3 X 4 SAE  2.00 EA
168000, 3/8 SAE INLET, 1/2 SAE OUTLET  

RVQ-101 (CARTRIDGE) QC-1 YELLOW Q CARTRIDGE/ID TAG  2.00 EA
168072  

RVQ-201 (ELEMENT) KT-43-VC 30' ELEMENT  2.00 EA
180269  

RVS-027 (VALVE) FEMALE DIN CONNECTOR ASSY  4.00 EA
GOES W/RVS-028 ON RVS-030 & RVS-031  

RVS-028 (VALVE) OMKC-1E 220-240/50 COIL  4.00 EA
 



 Partial Parts List For Job #: 21244-0000   
Date Printed: March 13, 2024

  
 
 

  For Sales Order:  Item:  LT41VLSWC8T       
 Part # Description     QTY UOM  

   
RVS-031 (VALVE) SOLENOID VALVE XUP-7, LESS COIL  4.00 EA

SPORLAN XUP; W/ EXTENDED 3/8" ODF SOLDER CONNECTIONS  
SCL-005 (CLIP) #66 STAINLESS STL CLIP 0066-000008  8.00 EA

 

SPI-004 (PILASTER) 48" 0060-007048 60 STANDARD  4.00 EA
 

SWS-115 (SHELF) SHELF, 36 1/4" X 27"  2.00 EA
W/WHITE EPOXY-POLYESTER HYBRID FINISH, DWG. SWS-115(SOLIDWORKS), 41 SERIES  

XGA-051 (GASKET) 39" X 59 3/4" OD, 4 SIDED BLACK  1.00 EA
02-126 BLACK MAGNETIC DOOR GASKET, 4 SIDED  

XGA-053 (GASKET) 54 5/8" X 28 1/8" O.D., 02-126  1.00 EA
4 SIDED, BLACK  

XGA-053 (GASKET) 54 5/8" X 28 1/8" O.D., 02-126  1.00 EA
4 SIDED, BLACK  

XGR-002 (GROMMET) 3/4" I.D. X 7/8" HOLE  12.00 EA
 

XGR-002 (GROMMET) 3/4" I.D. X 7/8" HOLE  2.00 EA
 

XGR-003 (GROMMET) 1-1/4 ID X 1-1/2 HOLE LAVELLE #1047  1.00 EA
LAVELLE #1047; 1-7/8" O.D. X 1-1/4" I.D. X Ø 1-1/2" PANEL HOLE X 3/8" O.A. THICKNESS X 1/16" GROOVE WIDTH, BLACK RUBBER.  

XGR-003 (GROMMET) 1-1/4 ID X 1-1/2 HOLE LAVELLE #1047  1.00 EA
LAVELLE #1047; 1-7/8" O.D. X 1-1/4" I.D. X Ø 1-1/2" PANEL HOLE X 3/8" O.A. THICKNESS X 1/16" GROOVE WIDTH, BLACK RUBBER.  

XGR-003 (GROMMET) 1-1/4 ID X 1-1/2 HOLE LAVELLE #1047  2.00 EA
LAVELLE #1047; 1-7/8" O.D. X 1-1/4" I.D. X Ø 1-1/2" PANEL HOLE X 3/8" O.A. THICKNESS X 1/16" GROOVE WIDTH, BLACK RUBBER.  

XGR-005 (GROMMET) 3/8" I.D. X 1/2" HOLE, BLACK VINYL  2.00 EA
BLACK VINYL, G1089 PLASTIC  

XGR-011 (GROMMET) 1/8ID X 11/32OD X 7/32T X 1/4 HOLE  2.00 EA
McMASTER-CARR #9600K11; 1/8" I.D. X 11/32" O.D. X 7/32" THICK X 1/16" GROOVE WIDTH, REQUIRES A Ø 1/4" MOUNTING HOLE; 
SBR (STYRENE BUTADIENE RUBBER) MAT'L; 50 SHORE A DUROMETER HARDNESS, -35° F TO + 180° F TEMP. RANGE.

 

XGR-022 (GROMMET) WHT LCKING GROMMET FOR 3/8 DIA HOLE  3.00 EA
McMaster-Carr 5269T232, Locking Grommet for 3/8" Hole Diameter, 3/16" ID, White  

XGR-022 (GROMMET) WHT LCKING GROMMET FOR 3/8 DIA HOLE  3.00 EA
McMaster-Carr 5269T232, Locking Grommet for 3/8" Hole Diameter, 3/16" ID, White  

YDR-002 ACCESS PORT SLEEVE, 1 1/4" ID  1.00 EA
COMPONENT HARDWARE R90-1002 Flexible Insulating Conduit Sleeve  

YHI-002 (HINGE) IN LINE KNUCKLE STYLE HINGE  5.00 EA
SOUTHCO 96-10-400-11  

YHI-002 (HINGE) IN LINE KNUCKLE STYLE HINGE  4.00 EA
SOUTHCO 96-10-400-11  

YHI-002 (HINGE) IN LINE KNUCKLE STYLE HINGE  4.00 EA
SOUTHCO 96-10-400-11  

YHP-002 (HOLE PLUG) 3/4" HOLE WHITE DP-750 PLASTIC  1.00 EA
 

YHP-012 (HOLE PLUG) 1/2" WHITE DP-500 PLASTIC 2644  2.00 EA
 

YHS-001 (SPACER) HINGE SPACER 95-3-50-5A  5.00 EA
30% GLASS FILLED NYLON/ BLACK  

YHS-001 (SPACER) HINGE SPACER 95-3-50-5A  4.00 EA
30% GLASS FILLED NYLON/ BLACK  

YHS-001 (SPACER) HINGE SPACER 95-3-50-5A  4.00 EA
30% GLASS FILLED NYLON/ BLACK  

YWA-001 (WASHER) .040 PLASTIC SHOULDER WASHER  24.00 EA

24SW0006 0.040" Nylon 6/6 Shoulder Washer with Natural Finish, Off White  
YWA-001 (WASHER) .040 PLASTIC SHOULDER WASHER  24.00 EA

24SW0006 0.040" Nylon 6/6 Shoulder Washer with Natural Finish, Off White  


